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(complete predicate)
=Yo| LH82 &0l= A8 SAl2] 2jn|E %***OF Moz Y LD =8, SAe| 20|12 2t
St=EH| %83._ SXH0{/=0{9] ER 0{F= 2E SAto]| ChaliA 20| "e|(define) =0 RASLIC. 0
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o o= 11— O - .

[2] BAbE "SI YEE B 2019t F0o{2| FAE= FAI7IR? Ell (voice)

3] EAM= “EXHO|LF “AFERY MEE T i

3] SHE TSRO TSR SRS axoit yeprt wasst NFS otRio1te? AR (tense, aspect)
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=l (grammatical mood)= 201

= _
O|ELt E(tone)S EHRLICE &, =012 HEE MEHSI7LE modal verb(ZSAHE F71510
=Y0| s = 22| SHS Hdist= Y22 OllistH E= AYLIC (a category that
reflects the speaker’s view of the ontological character of an event. This character
maybe, for example, real or unreal, certain or possible, wished or demanded,
Britanica)
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ofl A2 (to express a fact)

indicative mood ofl)
Paris is the capital of France.
He was at the park yesterday.

HEE g I A2 (to express a sense of uncertainty by asking a question)

of)

Do you have the gift?
Are you sure?

What did you buy?

interrogative mood

Yol LIS LT M| AL (to express a command or a request)

of)

Take your jacket off.
Don’t talk back to me.
Pass me the salt, please.

imperative mood

of SE0| CHE &0 2lZH0[7LE, &2 EHSHK 2 oS 7rde M AL (to

express a condition, possibility, probability, permission, ability &

intentionsE E&SH= modal verb(should, would, could, may, might, can,
2t &R At
conditional mood could, must)2f 27 At
o)
If you had studied harder, she might have received better grades.
You must sleep well if you want to have energy.

A, 27, Mot 2 TPl dgto| HEHH0| AL (to express a wish, doubt,

demand, or a hypothetical situation)

of)

If | were rich, | would travel the world.
| wish | were famous.

| suggest he wear something warmer.
She requests you be there early.

subjunctive mood
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tha= 0|2 (future simple)

0|2 ZI3H(future continious)

0|2f2tE (future perfect)
O[2hetE T8 (future perfect continuous)

O[2H(future)



2t= AlR|2| of0] mefof| F=o|StMIL.

| lost the key.

Ao PA1E SO HFACHs B ARt 2R E FE2ERISEL .

| have lost the key.

A

Aol PA1E Q0 BRI, O 1pA2| AHEO| SN0 = HeFS D|X| 1 UCH= 2|0|obr 285
F

HHYLIL. =, 01735| G242 R A= HOIXL. O[FA 2tz AlH|E 7|E0] =l AlZ
SOAM AMRtR, present perfectet 7|E2 present)dllA 2 AlZt O|FQ| A|ZHO] 7|&E
2ol J&kS OIX| 2 RUCH= AHMO 2teh YE0HEK RIS gLt

t

rk

o



=& (sentence) 2 ZtH(paragraph) U] AlM|= L2t=|7| {X| =[0{0F giL|CH J=X| 4=
A2 tense shift error?} 2 lBL|C},

"What is an example of an unmotivated shift in tense in writing? One example is
starting a story in past tense and suddenly shifting into present tense:
Last week | was walking along a street when this man walks up to me and says . . .

We do this in speech all the time, but in formal writing it's considered to be
an error." — Edward L. Smith and Stephen A. Bernhardt, Writing At Work:
Professional Writing Skills for People on the Job. NTC Publishing, 1997)

"Tense places the action of the verb in time: Today | go. Yesterday | went.
Tomorrow [ will go. Different verbs in a sentence or paragraph may logically use
different tenses to reflect actions at different times.

We will play tennis before we eat breakfast but after we have had our coffee.

The tense you select to describe most of the actions in your paper is called
the governing tense. Once you establish it, do not use another tense without a
good reason. . . .

"The literary present tense is used to describe literature or art. If you use it, do so
consistently." —Toby Fulwiler and Alan R. Hayakawa, The Blair Handbook. Prentice
Hall, 2003



https://www.thoughtco.com/tense-grammar-1692532
https://www.thoughtco.com/literary-present-verbs-term-1691251
https://www.thoughtco.com/what-is-a-formal-essay-1690805
https://www.thoughtco.com/grammatical-error-usage-1690911

J2iA tense shift error T2 S2E HAE st 2HEEH Btot 2X|7F A0 &H| =1 )
&L|Ct
= .

Ever since Alice discovered the secret elevator, she uses it to travel between the
first and second floors and to avoid crowds in the hallway.

(A)No change
(B) has used
(C)used

(D)

D)will have used

Ever since ...discovered (72| EH AN O|=2H) X|&E[= SES2 LIE
L|C} kA, LHA LZHE|A| has used 2 A|H|E GH0{ Z=0{0F §HL|Ct.



LZ8l = time adverb2t 22| A|X|0f| FFsHAM AUHENM|L.

Yesterday there was a forest of corn here. Thomas remembered racing
through it blindly, his forearms raised to protect his face from the rough

leaves. Playing in the corn was one of his pastimes, a pastime of any boy
who lived on a farm that planted it. He would run until he was out of breath,
gasping and disoriented by the spears of green towering over his head. It's
easy to become lost in a corn field, to walk in endless circles. It's easier still,
by picking a row of corn and following it out, to leave. Leaving the corn was
easy.

$i5t= EAHtime adverb)2t £0{7} &

ron

15H= A|R|E HIEtOZ 11 FAloZ Mast
2 Y £ JASLICH HAE S|4stn Qs AO|ZE. SR AMZ ZAE7| HEEHA A
= LHE0| fact2t? ZEEHLICt J2|10 1 factE 29| £} Chd|(contrast) AlZ

LEA- AN #HsH= =0 =|7| 20| 288 S0tE PHE7| = LT J2iA, tense shift
errorE Y&82] X&lst= 427t JISLICH THY, tense shift errorgh= 21&]0] AICHH O|H
sote| M= 0[0| S ZAULICH - “Of A7t ZAE7| B QA" 2t QIASHA| BHED, 1 0|f
M2tstA| ShEL|CH fLkstH HEHRX| 2210 YEHE[H|(coherently) M&dt= 0| IE|0[L|7t

FO i tol

Blood, a connective tissue, is a sticky fluid that has multiple functions. It
transports oxygen, nutrients, and other solutes to cells; carries away
metabolic wastes and secretions; and helps stabilize internal pH. Plasma, red
blood cells, white blood cells, and platelets are its components.

Plasma, which is mostly water, functions as a transport medium for
blood cells and platelets. It also serves as a solvent for ions and molecules,
including hundreds of different kinds of plasma proteins. Some of the plasma
proteins transport lipids and fat-soluble vitamins through the body. Others
have roles in blood clotting or in defense against pathogens. Collectively,
the concentration of plasma proteins affects the blood's fluid volume, for it
influences the movement of water between blood and intkrstitialfluid.

fact0|7| 20| 2= SixH AR|Z ZE3ist ASLICt LHE0| B2tMXO0|2ts MZf0] SX| gLt
Q7



=0{2f AH|of] F=3HA SHHEML.

For some reason, part of the first grade was spent in another school,
and | remember the last day there. In the excitement we rush pell-mell
through the long closet to grab our sweaters and lunchpails on the way out.
In the mad scramble, my hip collides sharply with the corner of a stored
desk. The pain makes me stop and cry. The summoned teacher is moved to
pick me up and carry me back into the classroom. She sits down in one of
the children's seats, cradles me on her lap and cuddles me. "Ah," she
explains to the children who are gathering around us in curiosity. "The poor
dear, she's crying because it's the last day of school!" Her own inner bruise
transferred to me, she rocks me tenderly. She gives me a picture book to
take home for my very own, such sweet consolation.

It was not outright fraud, you know. | do not think my English at six
was flexible enough to go into the details of the situation. But there is more
than one lesson connected with that incident. The value of dissembling? The
value of silence? The realization that there were some teachers who truly
loved teaching, for whom the prospect of school vacation was a desolation?
Or maybe only the side benefits of being wounded.

It was at this same school that | spent the longest day of my whole life.
| think it was Memorial Day and the bus must have come to pick us up in
the morning because | don't know how else | would have gotten to school.

tense shift errorE Ho{{7IHA S AI™HOf| A ZpH2| Y2 346t QL= M2 &
UESLICE.

O{2E2 O XES 960 71EHM =071 ZH5t= ARIE SOt MEMA ZOF7H QlLt
Q7 MRS ™7IX 2™ 2t 2F0| M= 02 28 YEHE =Xl= Aolets 42
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of &= ENE E0EML.

Invertebrates are animals without vertebrae. Arthropods, including arachnids
that has eight legs, are in this phylum. Some species in this phylum include
scorpions, spiders, and ticks. There are over 45,000 known species of spiders;
however, scientists estimate that the same number are still undiscovered.

factO|22 have (subject-predicate number agreement 2= X|70FZI%7?)

In 1994, the Asian Cultural Council awarded Murakami a fellowship that allowed
him to spend a year in New York, where he established a small studio. When he
returned to Japan, he further developed his artistic vision and has begun to exhibit

his work at galleries and museums in Europe and the United States.

In 1994 — 1t
When he returned to Japan ... developed and began ... (L{&% parallel

structure)
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& 71X Eli(voice)

SEf(active voice) The thief stole the diamond.

—
s
+SEl(passive voice) The diamond was stolen.

FO{2t £0{9| 2t7|= F0{7} otl =07 THfLICt. A7|5HE? SHX|2, S| MI[si & &
OtgLIC EF2l LIE2 02 MEE SAe| 2J0|E 2H5h= WAooz Fd5HE0te. 28

ol HEE2 Z= =0{0ILITR

26| Po{= FO0{7F £0{7F HHSh= "S22| FA|7t Ot ARE 518313 JELICH ol
20| LML R? SEQ| FHIE RE2=H {EH FOE XHAFAAHLR?

ColOtREE EXI7H HOI0| r2X| BECHT JFYsEE. HOI0| F3I7| HIHK| EXZH Al
I S5 #0IE. BH IS ES0/2HD XIFSH=G], 018 ES02HD 4 5 S8
B HTBCIT 2 4 ofF. I Hlols X2f2). 03 “X2f2| 2| HRNS SHAIH Fojof
& Z27} SuyLIct

22 U F012 47|14 8 FE US 4 YBLICH THEE LB DHYRES Hoj =
21 ZALICH Roi2 1 70{0] 0f2{20] SHHAE HEZXIR? $70kE. F0IS...



EYO| EiE M2 %0t 7t= &20] S0 UX| oW =07t Eelst= SH2| FXE =
XA ELIct. stisfo] Yol =| 1, S8t B 2 EAEY Bt XS XA Lo

—

Mr. Brown wanted his students to learn math in the context of real life. He
felt it was not enough for them just to work out problems from a book. To show his
students how math could really help them, he held several contests during the
year. The contests allowed his students to have fun while they practiced math and
raised money. Once he filled a fishbowl with marbles, asked the students to guess
how many marbles there were, and awarded a free lunch to the winner. Another
time they entered a contest to guess how many soda cans the back of a pickup
truck was held. To win, they had to practice their skills at estimating, multiplying,
dividing, and measuring. They used most of the prize money for an end-of-the-
year field trip.

pickup truck2 soda cansE 11 U= FH|7} SHELICE MEEM active voice2 EH
SHOF BfLCt.
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S ' od
of 2t3ff o]n| =gt Zi0[ 1 A2} BLICE. oS S0{M, dogl| S+ 2 dogs2 EIsh= 42
2 =00 YENH HetE F0IM TESH= 2|0|2] Xt0|Z 2SX|LHENH ! xto|7} giZo= =
F5ta o|ojAk Xto| & metd 4= QCHH .. 1t J7| 7Hs$t7tR7?). 2|0|F X018 BHE7| fIsiA
THofol| 75Xl = HENEIQ! XO]E inflectionOl2t 1 X|EBfLICt.

YALS| E4+HE Holot= WHO|LE, F0{7f Bh~0|1, A7 SXHY M =012 HE§lol= B
b 1= =

ol

17} e
’aneCtlon is a form of morphology (word formation process) in

which a base word is altered to show grammatical meaning and category,
such as tense, aspect, number, mood, or person. Typically, inflected word
go through an affixation process, whereby a letter, or a number of letters, is
added to the base word to show the grammatical change. For example, sing
- singing - here, the inflexional suffix '-ing’ indicates the action is ongoing.

"

(https://www.studysmarter.co.uk/explanations/english/english-lanquage-
study/inflection/)
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EH
(passive
voice)

of2 oM X0, )\l?_ HEE=
= B30} BLICH XEH4T} BX

7k %712 HZsfof & He o
AAI:IL‘|E'|-

past
ate
had eaten
had been )
) was eating
eating
was eaten
had been
eaten
had been was being
being eaten eaten

BE
|O
L
=2 1T
= 1L

Sist|ofl=

has eaten

has been
eating

has been
eaten

has been
being eaten

&o| A

odoHOl: St I‘|EO|__IL

g , O] AfEHOILA EfL}
20{2 AIBE SAto] HEIZ HHAT|= 2T 20]

HEH #2t7t H2 ChefsiX| = EHE0| e -

present

eat

is eating

is eaten

is being eaten

J2iA notsl|H JIEHO| ZEAE FIMH 2 AHESI0{ Chefst g0
YHULICH =E, 0] LO| 2AHSICIL Ojop7[&

2t modal verb7t ESEH #d &I
HO| Q7| 20| AFS =02 WHo|2H= M2 2

MX, 207t F7I2 HB3Ho
(auxiliary verb)Lt B

S Xsts “2iChet AR f3IctH, £0f

[Heh oS |ISH0R.

ICHs AMAS

£ st Al

will have eaten

will have been
eating

will have been
eaten

will have been
being eaten

e
OII

future

will eat

will be eating

will be eaten

will be being
eaten

Oz ti8sh= A9
f: auxiliary verb

HE Z0|&. ohX|2h, CHE et ErtsE 28 B

—

oist 740l |__| [_-_|..
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